Exam 3 Review

| Rock Subjeckd 0 a Vawiokle fovet

Maw = 12 by Fix)= 60N+ (2.0%)x
Find V ot X:=90m.

F()
Flom)= GON+ (208 om) = 6.0N "‘:CZ .
F@m)= GON + (20£)4m) = 24.0N ‘] // A
Win = owenr odev F-d covve = (k) 0N+ 24 NY4 m) = 1353

)(f(: 9{51 y£°+ Win = K + %01 %o\« [;}éo
Win = 3mV§
1853 = ()12 ko) V¢
i = 434"

.. Dr. Bunett ‘Wmmnrj a Brick
Morice. = z.‘+u3 Viz 150"t Ews=15 3
Find d whn Speed is haW of initial

0 0 0

Kiv Qe O« win = Bs < Ugs + y&°+rm
Fmvi’s 3miss mgH + Euss
(e g)remrs)’= (V2)Xe? kq)IS) « (27 kg)aIlee) W + 153
=803 m

2. Block H'rHinﬁ 0 Spring
Moo = S l&j Vue = P% Dl spring = 0.68 m



J J
Mok = S by Vo = 3% Dlspring = 0.68 m
Fid spud when spring is halt compressed.

KH%’ %;Vn‘l(f* +Uc4= l;)@s

SRS LR 12/

At ol compresaim - 2V T 3k (A
3(5u)ame) = $ k (0.8 m)*
k=598 N/m

Mol compression: 45 (1")’ = (5kg) 1" + 3(5P18 ") 2482)°
\s = 0.0 "/s

4. Cvare U‘H’inﬂ a Omie

Mok = B9 Ko Bn: 7500W %= 65%:065 d:133m
Fnd time fo IH omte.

t-E = W _ = maH = (@gfa05N8Fm) = l0oss
Bse 4 Pin A, Pin (0652500 W)

5 olley (paster

Me = 160D Kﬁ H=25m Ni= O™s Vmax = A" Vochal = 2"s
F\V\d Win < Eloss.

k’ yg.-t ‘;-owm-lq Uﬁ"‘%*d

Wiv\: zMVm"' m H

.V-\?M ‘/iX-miDA lflﬁxol M/s (l@ \49)(%! M/S'XSS m>



Win = (Y109 Uy 7%:)"« 1000 ) A81 35 m)
Win = 585850 3 = 2833 b

0 0
Actued * ﬁo* 96%.0“' i+ Win = K ¢ Uﬂf ¥ y& + Eloss
Win = lle\\‘a:)wA + moH + Eipes
#5850 3 = (1000 kg) 2" + (109 kg(281 Y35 m) + Euns
Ciss = 850 T = RS I

0. Tk Cmsh\‘nq it a Sew (w
Mewr = 7200 oy Venot = 2% Ve =% N':= 1P
Find mass of (ow.

MeNe + MV, = (W\H MC>VI
(ZZGOlaﬁXZZ"‘/s;) + Mc(%"/s> : (ZZUD k‘j + Mc) U? M/s)
Mc = 1222 g

T Shane's Sliding Disc
m&fsd = 'L" I‘ﬁ le’sc' 3 (-DM/S €=|
Mdmz = 9 V.g Nisc 2 ’Om/s
v)
MIV) T Mt = m.V.' + szz'

(M) = (uig)V + (RIg)Vs
Vel e - (- V)

@M/S bl Vl’ + Vz’
Ny = "% + Y



Q.

()0) = (4 ig) W'+ (8 v+ V2)

Vo= LoY ™

\s = " « IV = (o'“/s + 104" = 3.64")s

M?b\, -W\YDWinﬁ Qa Bau 22'75

Wor = OR0 b \=22"@ 4° €:0.04 Llo\( ﬁ’

Find e awj\), kv hH‘HV\g Y aJvovnd.

40,V (X): Ve = Ny = 72" 00s (40’) = 85"

WLY): e--(Vir¥) - e--vy
Niy- Xy Viy

Viy=-ye=-( 72" sin (40)) (0.0) = 4057

O tan" (11_) = tan’ (q.os "s > = B
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